TR IFEABE SRR o B
R =8 1E = B =
No.l |
A | No2 |9
No.3 | A
No.1 '7
No.2 7
B No.3 T
1 EZj p 1 £1 |14
c No.2 | 77
No.1 1
No.2 T
D | No3 7S
No.4 T
No.5 14
1 T
2 7
8
2 3 > %2
4 A
1 T
2 v
2 | 8
3 3 = %
4 A
1 the bike I have wanted for many
4 &2 | 4
2 difficult for me to talk in front
1) | drink
1 W) %2
(2) | color/ colour
(51)
2 Go straight down this street and 4
turn left at the second light.
5 16
)
| agree. Young people are
interested in many things, so it is
3 easy for them to learn things. 8
Also, when students have
questions, teachers help them.
School is the best place for
studying.




